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SECTION—A

Note :— Attempt any TEN questiohs out of given FIFTEEN short
“answer type questions. Each question carries
2 marks.

1 3
1. (1) Evaluate f[x—;} dx.

) Derive the demand function which has unit price elastlcxty
of demand throughout. - ‘
(3) How:is derivative different from differential equation ?

4) ‘What is difference equation ? Discuss the concept with the :
help of suitable example.

(3) Solve the followmg difference equation :
yx+2_4yx+l- 3yx—5x :
(6). What is linear programming ? Discuss the assumptions and
applications of linear programming in business.
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(7) Mean and varilance' of Binomial Distribution are 8 and 4
- respectively, find n, p and q. '
(8) Discuss the procedure of obtaining statistical inferences
, about population parameters from sample statistics.
(9) A die is rolled 9000 times. Of these 3220 times it shows
3 or 4. Test the hypothesis that the die is unbiased.
(10) State the reasons for the importance of sample size in
statistical inference. - .
(11) Discuss types of errors and explain which error type is
mMOore Worse. _ _
(12) Write a note on statistical decision making.
(13) Discuss the three main assumptions of ANOVA. What are -
some limitations to consider ? :
- (14) What is the relationship between hypothesis testing and
.confidence interval ? ‘ :
(15) State the difference between the t-test and chi-square
test. - | '
SECTION—B

Note :— Attempt any ONE question from each Unit. Each question
carries 15 marks. :
UNIT—I

2.  For a monopolist, the demand law is p = 50 — x? and Marginal
Cost MC = 1 + x*. Find the consumer’s surplus at the price
which monopolist will like to fix. If there will be pure competition
in this case, what will be the consumer’s surplus at the equilibrium
price ? - - :

OR

2664/PQ-16692(T) 2



. d2y
lve — -6

(a) So-lve e
(b) An individual preference scale for two goods x and y is
defined by the Marginal rate of substitution of y for,

-q)i+8y=e‘?",

X—a - ;
R=;:g. Show that u = (x —a) + (y - by,

UNIT—I
For the given Consumption-Income Model (in the form of linear
first order difference equation); Y, = 80 &

€, =10+05Y,  and I =20 + 2(Y,-Y,_,); Find the time

OR
Write the dual of the following Linear Programming Problem
and show, by Simplex Method, that the optimal solution for the
primal and the dual is the same - -
- Minimize C = 40x, +200x, °
subject to : - 40x, > 1 60
3x, + 10x, > 60
8x, + 10x, > 80
and X5 X, 20
UNIT—III
What are the conditions under which Poisson distribution are
applied ? Show that Poisson distribution is a limiting case of
Binomial distribution. Calculate the mean and variance of Poisson
distribution, . '
OR
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7. (a) What is estimation ? Discuss the properties of good
estimators. |

(b) Explain the term confidence interval. Find the confidence
| interval for the mean. ;

UNIT—IV

8. (a A sample study of 2500 couples gives a correlation coefficient
: of 0.45. Estimate the limits to the population correlation
~ coefficient.

(b) It was found that correlation coefficient between two variables
calculated from a sample of size 25 was 0.37. Does this
show a significant correlation.

' OR _
9.  Write briefly a‘b(_)ut chi-square distribution. What are the different
application of chi-square test ? Also sc:lve the following
problem :

No.of Heads ([0 |1 |3 [4 |5 |6 |7 |8
Frequency 2163052 (67|32(10

- Test the hypothesis that the coins are unbiased at 5%
level of significance (Tab chi-square at 5% level of
significance = 15.5)
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Minimize C = 40x, + 200x,
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3x, + 10x, > 60
- 8x, + 10x, > 80
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Minimize C = 40x, +200x,

subject to : 41;{] +40x, = 160
3x, + 10x, > 60
8x, + 10x, > 80

and x,,xzzo |
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